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A SOZ free thaw shoct=r makes
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mo-le .

loe ve seew thed -
P(z=0)= O.00% P(z=2)= o.3%4
P(Z=t) = 0.0%6 P(Z=3)= 0.5IR

We also Scws that
F-3
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P(Zx)= (2)0.8)7(2)  (O<z<3).

Definhon: Given om rv X) b Aefine the

<é{gaciﬁe__l) valve ELX] of X 64(
EZ:X]"-&"Z&[MZ‘P(X’X)
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Xz OF X
The dea. (thak abest d): ELX] it “odoa
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E[2)=2 =-P(Z==)
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Exauple l,
Ro'll 4o four Hice; let TF the soun of
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(6} the pmd for T
(») ELTT.

Solsbion
(a.) The sc-.mvlz. spocc hes siz= 36. The
Pass:ble valves of T are 2,3 ‘e, [
o= cou..eule,, for c.xa.ufle) that

p(T=a)=_I1IR] = (3
36




P(T=5)= [{14,23,3243] =,
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Yors drass o cord ot rewdow frowm a s'fcw.ﬂa.rca)
SA’C-GJ'Q dleak. YOU Lt $3 :f ov dvaao a.')oc.c,e_
cord or an oce; oL los= 43 Ara.wo
a 2 —UwOﬁL\ oh %;Yc-u (ose. $6 TZOU
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Should L(ou [')(cu1 ?

Solg‘ﬁtéw‘
Lc.'t w 6& ‘ﬂ\c_ rv ar/\auq chJA.'IS on,
Lw4o for a loss).
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T hew, i &oﬂaus/
E(W])= {- Pluowm $%) - 3* Pllos= $ 3) - &+ Pllos< $€)
- R-T5-3-13 - 6-15= 2= e

)

You’(ﬂ <,>t.€=-c,‘£ ‘fo lozy:, so Yoo s‘xauwh,"é i)‘cu.,.



E xomple 6.

A fauc Conw i & Pe.& ot lowds 4ails.
Let X be the rv 1&::.4 recerds houos MrBony
ﬂl.fx i 4ook.

() E‘W&XH\C Prcbc-l):[ :‘f'Lr mass fohchion.

(&) Frdl E(X)
Selution

To sGy that d fakes © ‘p,LPS for the
cotm to land tanlk is to Say thadt:
(D) The fuest -2 Flps lonR haadks;
(2) The e [ands ‘tails.
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PCX=0= (1)

So
E(X)= > _tP(x=¢)

L=
Q. ¢
=> (%) =
2L (%) = d.
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